Chapter 5 AP Statistics Practice Test

Section I: Multiple Choice Select the best answer for each question.

! TS.].l Dr. Stats plans to toss a fair coin 10,000 tirnes in the
sope that it will Jead him to a deeper understanding of the

'PRQG,&%]MT'? oney TEWLS LS

laws of probability. Which of the following statements is true? WHAT HARPEANS AP PRoXIMATE LY
(a) Irisunlikely that Dr. Statz wil) get 1nore than 5000 heads. (N TRE Lome RUN. AoT
(b) Whenever Dr. Stats gets a string of 15 tails in a row, it ; : Ay TRg
becomes more likely that the next toss will be a head. WHaT witl HAPPEAN

The fraction of tosses resulting in heads should be S HorT RUN.
close to 1/2.

(d) The chance that the 100th toss will be a head depends
somewhat on the results of the first 99 tosses,

(e} All of the above statements arc truc.

T5.2. Chira has 1.2 billion people. Marketers want to
know which internaional brands they have heard of.
Alarge study showed that 62% of all Chinese adults have heard
of Coca-Cola. You want to simulate choosing a Chinese at

randomn and asking il he ot slie has heard of Coca-Cola. One \/UL&. NEED € xpcTlY (2 © F TRE
correct way to assign randormn digits to simulate the answer is: et : 25 TO

(a) One digit sirulales one person's answer; odd means j oo A-Dic'T AUMBE

“Yes” and even means “No.” RECRLESEAT THE EVENT 2
{b) One digit simulates one person’s answer; 0 to 6 mean W RAUING H €ard oF (CdoKE

“Yes” and 7 lo 9 mean “No, "
(c) One digit simulates the result; 0 to 9 tells how many in éz_%
the sample said “Yes.” il

Twa digits simulate one person's answccan 29,
es” and 62 to 99 mean “No. " e b

Mﬁvo digits simulate one person’s :1nswcwm1

“Yes” and 63 to 99 mean “No. ”

T'5.3.] Choose an Asnerican household at randoin and record
ic number of vehicles they own. Here is the probability mod-

el if we ignore the few households that own more than § cars:

—_—— — OS" 'f' 0-2. - !’1..0
. . . - .
Nl.lmbe'r‘ofcazs. 0 .] 2 3 4 5‘\ ,P( MORE THAN b A% 4
Probability: 0.09 036 035|013 0.05 0.02 \ 20%
———

A housing company builds houses with two-car garages.
What percent of households haye more cars than the
garage can hold?
@ 7% () 13% () 20% (d) 45% () 55%
['_I'?-'?] Cornpuler voice recognition software is getting bet-
Er, Some companies claim that their software corectly
recognizes 98% of all words spoken by n traived user To
simulate recognizing i single word when the probability of
being correct is 0.98, lel two digils situlate one word; 001
97 thean “correct.” The program yecogmzes words {or not
independently. To simulate the program’s performance on
10 words, use these random digitss 6 % 5 S0 C—W'f'd

sdblo 7hopd 17eek :{?ﬁzs’ 61790 90656 87964 18383

The number of words recognized correctly out of the 101

@ 10())P ()8 @7 (o 6
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Questions T5.5 to TS.7 refer to the following settmg. One
thousand students at a city high school were classihied
altording t Both CPA and whether or not they conss-
tently skipped classes. The two-way table below suruma:
rizes the data.

GPA
Skipped Classes mo —>ﬁ
Many 0 @ @ =]10
Few (i 450 265 I
\1'5.5'. What is the probability that a student has a g%? = ..g'_—gf = @
under 2.07 : P (4 A 'U> Jood

(a) 0.227 [(b)"0.255 (c) 0.450 (d) 0.475 (e)
‘TS.G. lWhat is the probabilily that a student has a GPA
ender 2.0 or has skipped many classes?

(a) 0.080 (b) 0.281 ((c))0.285 (d) 0.365 (o)

Wihat is the probability that a student has a CPA un-
er 2,0 glven that he or she has skipped many classes?

(a) 0.080 (b) 0.281 (c) 0.285 (d) 0.314 ((c]0.727
I’FS.B.! [for events A and B related to the same chance pro-

5, which of the following statements is true?
(2) If A and B ae muotually exclusive, then (hey nnst be
independent. Lo
(b) (I A and B are independenl, then they must be muiu-
ally exclusive.
(c) 1If A and B arc not mutually exclusive, then they must
be independent.
(d) If A and B are not independent, then they must be
moutually exclusive,
(e) Jf A and B are independent, then they cannot be mutu-

ally exclusive.
} T5.9.| Choose an American adull at random, The probabil-
ity il you choose a wornan is (.52 [he probability that flse

person you choose Tias never martied is 0.25, The probalulity
thal you choose s wonnn who has never mapried is 0,11
The probability thal the person you choose is cillier @ wotn:
an or has never been martied (or both) s theretore abow
@) 077. (6D 066, () 044, (d) 038. (e) 0.13.

A deck of playing cacds has 52 cards, of which 12
are face cards. If you shuffle the deck well and tnrn over the
top 3 cards, one aller the other, what's the probabilily that
all 3 ave face cards?

(a) 0.001 (b) 0.005 @o.om

(d) 0.012 (e) 0.02
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Notice from this picture,

you can find the
conditional probabilities

j{‘_ SECTion 2+ FReEE RESPONSE PBATS7
TEM&L};
| T5.10|R) 1§ Posible Ooteomes gl L2 3 45 LTS
| R=> TeAcWER WINS (27 fimes) MDA & A rrn
L T= TE 1| (DA _AAAAA_
3 |28 BW&H
] P(Tep,cnm ww.s\ P(A) = 27 ‘3_ ML*} Y @ AAA A
| 48 |1o 35 | ¢ (T) wan
‘G) B= Youcer A 3 on (y (1) Aa

Youe, Fiest RoaLL

P(AUR)=

P(RY+ P(B) —P(ANe)

= 2y + 8/48_“5/43

= % oR .063a5

= 38
s

’} fRE BUENTS A ond B TNDEPENDEAT 7,

(___ To yerify cCcrecw P((-\\{i;) F(A) and P(ﬁlﬂ) I"Zﬁ)
Wﬂﬁ"'w\ PCR) = 7 (And) =%, | g
2 ol ) = */ug P(AAB) =53 7~ P(AD
5N L._7 P(o)= Vs PE™ "o |
o
- ,wz‘ \ _ [both correct] t I
¥ P(a) = P(Aa1m) _ 7 '\
Z'I_[qg = P(AND) . _5:!‘!8 o = yE
P (n) 27ys | |27 A 2T

A N/ygF 5

e

L SINCE These aes ot £GoAL, The TIENTS  ARE

NOT [NDECENDENT

=

~ |Or you could find P(B)= P(B|A): P(B) = 8/48=.167 ?é P(B|A)=5/27=.185
{Since they are not equal the events are NOT INDEPENDENT
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Or you could find P(B)= P(B|A):  P(B) = 8/48=.167  ≠  P(B|A)=5/27=.185
Since they are not equal the events are NOT INDEPENDENT
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you can find the 
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P(B|A)=5/27 
P(A|B)=5/8 
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N [ | TIP: when you see "AT LEAST," think!!! 1-P(neither or none) |
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